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Time Estimate Type

Description

Optimistic Estimate(tg)

Best-case scenario estimate assuming no delays or obstacles

Most Likely Estimate(t,,)

Realistic estimate based on normal conditions and potential
risks

Pessimistic Estimate(t,)

Worst-case scenario estimate considering all possible delays

For the three estimate we have to calculate _tot+ 4ty + VA
the expected time of an activity —£ 6
Variance of an activities given by _ af _ (tp - to)z /
6
S
Standard Deviation of project (o ): Vo o (tp — to)2 v
= 0' =
6
t, — to\*
14 0
Lo ( 6 )‘/

Ravi kumar R,GPT , Bagepalli

Time estimate - 20PMO1T 1| Page



https://www.youtube.com/@RaviRnandi

Time estimate with Network Diagram

MARCH 22

nen‘n i ili diai ram for the following activities with

Develop the

correspondingdime estimaie-

Activity | Time Estimate
to | tm | &
1-2 |9 12 |21
1-3 |6 12 |18
24 |1 1.5 |5
3-4 |4 85 |10
25 |10 (14 |24
45 |1 2 3
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Activity | Time Estimate
to tm t,
1-2 9 12 21
13 |6 |12 |18 12) + 2|
2-4 1 1.5 5 q - 4 C )
3-4 4 8.5 10 6
2-5 10 14 24
4-5 1 2 3
Activity Time Estimate Expected time for each
activity
. to+ 4ty +t,
i 6
to tm t,
VAN ORI SO Y B 7
13V |6 12 18 (2
2-4 1 1.5 5 2.
3-4 } 4 8.5 10 >
2-5 10 14 24 (S
4-5 1 2 3 ~

Q [-2-4-¢
[ -3--¢

@ 8
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8 (c). The three time estimates (to), (tm), (tp) for each activity in a project are given
below. Determine the expected time for each activity and also calculate the standard

deviation of the project. — 10 Marks R—
Activity [ Time
Estimate
to | tm | £

1-2 9 12 |21

1-3 6 12 |18

2-4 1 1.5 |5

3-4 |4 8.5 |10

2-5 10 |14 |24

Activity | Time Expected time Variance for Standard Deviation of
. ivi h activi ;
]istlm;te - f(t)r each activity ?/a(:= :;: Ivity project (G ):
0 *m | %p :t()+4't—m+tp _(t,,—t())z t, — to\>
6 L 6 V=g¢%= ( L % 0)
1-2 9 (12 |21
AR E 4 _
13 |6 12|18 \2 y. -
24 [1]15]5 o= O
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34 | 48510 R | R——
25 |10] 14 | 24 (S LAY
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NEXT Video
1. PMS problems “Gantt chart network diagram”
Other videos available on my channel
1. S A Lab Experiment Videos
https://www.youtube.com/playlist?list=PLvC6jNaUz
0exWh6k4 CkKv6rPMYVLIMS8k
2. Engineering Mathematics
https://www.yvoutube.com/playlist?list=PLvC6jNaUz
ogzcMc2znsEzXwVkyvy3mjw7
CAEG
. DCET
https:// www.youtube.com/playlist?list=PLvC6jNaUz
0gzEeXISVToUkUzQAWHIf44R

B W

Please don’t forget to comment / give feedback for my channel and join
the WhatsApp group
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